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1. Calculate 4H ;600 and A4S1600 for the reaction Zr(B) + Oz = ZrO»(B).
(Utilize the Tables in the APPENDIX of the textbook.)

2. Calculate the value of 4G for the reaction
Si3N4 + 3 Oz = 3 SiO» (a-quartz) + 2 N»

at 800 K. What percentage error occurs if it is assumed that AC,, for the reaction is zero?
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1. Calculate 4H ;500 and 48600 for the reaction Zr(B) + Oz = ZrOx(p).
(Utilize the Tables in the APPENDIX of the textbook.)
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2. Calculate the value of AG for the reaction

(1)SiaNs +(3)02 =(3)8i02 (a-quartz) H2)N;

at 800 K. What percentage error occurs if it is assumed that 4C,, for the reaction is zero?
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